
Spieler 1

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 76 + 35 = 111 1 4

Bahn 2 82 + 43 = 125 2

Gesamt 158 + 78 = 236 1 6

Spieler 2

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 98 + 43 = 141 3 1 1

Bahn 2 82 + 24 = 106 1 1 4

Gesamt 180 + 67 = 247 4 2 5

Spieler 3

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 63 + 29 = 92 4

Bahn 2 80 + 23 = 103 1 6

Gesamt 143 + 52 = 195 1 10

Spieler 4

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 96 + 39 = 135 1 2 2

Bahn 2 71 + 51 = 122 1

Gesamt 167 + 90 = 257 1 2 3

ASCHAUER Hermine

GATTRINGER Herbert

GREIN 2
935

GRUBER Helmut

KÖCK Ernst


